21. The Laurent series

1. Uniqueness of holomorphic functions We recall that a point  $a \in C$  is called a zero of a function f if f(a) = 0.  $\varphi(\alpha)=0.$ Last time we have proved the following theorem theorem Theorem 20.6 Let a point at 6 bea zero of a function of that is holomorphic at this point. Let also fis not equal identically to zero in neighborhood of a. Then there exists nell so that  $4(2) = (2 - \alpha)^n \Psi(2),$ where I is holo morphic at a and 4(2) \$0 \$2\$ from a neighborhood of a We use this the orem for proof of uniqueness theorem

Theorem 21.1 (Uniqueness) Let I, de be holomorphie in a connected open set UCC. Then of di= dz on EGU that has a limit point in U then  $f_1(z) = f_2(z)$  for all  $z \in U$ . Proof The function d= di- de is holomorphic in J. We only have to prove that d=0 on V. Let a be a limit point of E. Remark that a & U. Since the function of is continuous on U (1.0) and a is a limit point of E (that is  $\exists \exists n \in E \ s.t. \exists n \Rightarrow a$ )  $\forall a$   $\forall b$   $\forall c$  have  $\forall a$   $\forall f(a) = \lim_{n \to \infty} f(\exists n) = \lim_{n \to \infty} 0 = 0$ . By theorem 20.6 d = 0 on  $\exists n \Rightarrow a = 0$   $\exists n = 0$   $\exists n = 0$   $\exists n = 0$ . a neighborhood Va of a same procedure for any of Ja, we obtain that d=0 Repeating the limit point on V. In this section, we also for melate

use ful statements vithout proof. Theorem 21.2 (Morera) it a function & is continuous in J and  $\int d(z) dz = 0$ so for any triangle  $0 \leq 25$ , then f is holomorphic. s v Theorem 21.3 (Weierstrass) if the series  $d(z) = \sum_{n=0}^{\infty} f_n(z)$ of holomorphic functions in V converges uniformly on any compact subset of V, then f is also holomorphic and  $d''(2) = \sum d''(2)$ for any mEN. 2. The Laurent series Theorem 21.4 (Laurent) Any holomorphic dunction d in an annulus  $V = \{2 \in C : r < |2 - a| < R\}$ 

 $\sum_{n=0}^{\infty} C_n (2-a)^n$ can be defined. By the Cauchy - Hadamard formula The series  $\sum_{n=0}^{\infty} c_n (2-a)^n$ converges in the disk  $\lfloor |2-a| < R \rfloor$ , n here 1 = tim VICn1. Next we consider the series  $\sum_{n=-\infty}^{\infty} C_n \left( z - a \right)^n$ We replace w:= 1/2-a. So, we obtain  $\sum_{n=-\infty}^{\infty} C_n (2-a)^n = C_{-1} \frac{1}{2-a} + C_{-2} \frac{1}{(2-a)^2} + \dots =$  $= C_{-1} w + C_{-2} w^2 + C_{-3} w^3 + \dots$ Hence the last series converges for all INICP, where 1 = tim 1/4-11. 12-a1 > 1=: 2 don 0~

Consequently, the domain of convergence  
of 
$$\sum_{n=-\infty}^{\infty} C_n(2-a)^n$$
  
is the annulus  
 $V = \{ 2 < 12-a \} < R \},$   
where  $Z = \overline{Lim} \overline{V} C_n ],$   
 $\frac{1}{R} = \overline{Lim} \overline{V} C_n ],$   
 $\frac{1}{R} = \overline{Lim} \overline{V} C_n ],$   
 $E xam ple 21.1 The function  $f(2) = \frac{1}{(2-1)(2-2)}$   
 $V_2$  is holomorphic in the  
disk  $V_1 = \{ 12| < 1 \}$   
and annuli  
 $V_2 = \{ 1 < |2| < 2 \}$   
 $V_3 = \{ 1 < |2| < 2 \}$   
 $V_3 = \{ 1 < |2| < 2 \}$   
 $V_3 = \{ 1 < |2| < 2 \}$   
 $V_3 = \{ 1 < |2| < 2 \}$   
 $V_3 = \{ 1 < |2| < 2 \}$   
 $V_3 = \{ 1 < |2| < 2 \}$   
 $V_4 = \{ 12| < 1 \}$   
and annuli  
 $V_2 = \{ 1 < |2| < 2 \}$   
 $V_5 = \{ 2 < |2| < \infty \}$   
 $V_6 = \{ 1 < |2| < 2 \}$   
 $V_7 = \{ 1 < |2| < 2 \}$   
 $V_8 = \{ 2 < |2| < \infty \}$   
 $V_8 = \{ 2 < |2| < \infty \}$   
 $V_1 = \{ 1 < |2| < 2 \}$   
 $V_1 = \{ 1 < |2| < 2 \}$   
 $V_2 = \{ 1 < |2| < 2 \}$   
 $V_3 = \{ 2 < |2| < |2| < \infty \}$   
 $V_4 = \{ 12| < 1 \}$   
 $V_5 = \{ 2 < |2| < |2| < \infty \}$   
 $V_6 = \{ 1 < |2| < 2 \}$   
 $V_7 = \{ 1 < |2| < 2 \}$   
 $V_8 = \{ 1 < |2| < 2 \}$   
 $V_8 = \{ 2 < |2| < 2 > 2 \}$   
 $V_8 = \{ 2 < |2| < 2 > 2 \}$   
 $V_8 = \{ 2 < |2| < 2 > 2 \}$   
 $V_8 = \{ 2 < 2 > 2 - 2 \}$$ 

/

1) Consider the domain 
$$V_1$$
.  

$$\frac{1}{2-2} = -\frac{1}{2} \frac{1}{1-\frac{2}{2}} = -\frac{1}{2} \frac{1}{\sum_{n=0}^{\infty}} \left(\frac{2}{2}\right)^n =$$

$$= -\frac{1}{2-\frac{2}{2-2}} \frac{1}{2-\frac{2}{2-2}} \frac{2}{2-\frac{2}{2-2}} \left( conv. \ dor \ 12|c2 \right)$$

$$-\frac{1}{2-1} = \frac{1}{1-2} = \frac{2}{2-\frac{2}{2-2}} \frac{2}{2-\frac{2}{2-2}} \left( conv. \ dor \ 12|c1 \right)$$
There fore
$$\frac{1}{2-2} = -\frac{2}{2-\frac{2}{2-2-1}} \frac{1}{2-\frac{2}{2-2}} \left( conv. \ dor \ 12|c2 \right)$$

$$-\frac{1}{2-1} = -\frac{1}{2} \frac{1}{1-\frac{1}{2}} = -\frac{1}{2} \frac{2}{\frac{2}{2-2-1}} \left( conv. \ dor \ 12|c2 \right)$$

$$-\frac{1}{2-1} = -\frac{1}{2} \frac{1}{1-\frac{1}{2}} = -\frac{1}{2} \frac{2}{\frac{2}{2-2-2}} = \frac{2}{2-\frac{2}{2-2-2}} \frac{2}{2-\frac{2}{2-2-2}} \left( conv. \ dor \ 12|c2 \right)$$
Hence
$$\frac{1}{2-2} = -\frac{2}{2-\frac{2}{2-2-2}} \frac{2}{2-\frac{2}{2-2-2}} \frac{2}{2-\frac{2}{2-2-2}} = \frac{2}{2-\frac{2}{2-2-2}} \frac{2}{2-2-2-2} \frac{2}{2-2-2-2} \frac{2}{2-2-2-2} \frac{2}{2-2-2-2} \frac{2}{2-2-2-2} \frac{2}{2-2-2} \frac{2}{2-2-2-2} \frac{2}{2-2-2-2} \frac{2}{2-2-2-2} \frac{2}{2-2-2-2-2} \frac{2}{2-2-2-2} \frac{2}{2-2-2-2} \frac{2}$$

$$S_{0}, \quad d(2) = \sum_{n=-1}^{\infty} \left( \frac{1}{2^{n+1}} - 1 \right) 2^{n}.$$

$$\begin{aligned} So_{j} & \frac{1}{(2-i)^{3}} = (2-i)^{-3} = (-i)^{-2} \left(\frac{2}{-i} + 1\right)^{-3} = \\ &= \frac{1}{i} \left(\frac{2}{-i} + 1\right)^{-3} = \frac{1}{i} \left(1 + \sum_{n=1}^{\infty} \frac{(-3)(-4)}{n!} + \frac{(-3-n+1)}{n!} \left(\frac{2}{-i}\right)^{n} \right) \\ &= \frac{1}{i} \left(1 + \sum_{n=1}^{\infty} \frac{(-1)^{n}}{n!} + \frac{3 \cdot 4 \cdot \dots \cdot (n+2)}{n!} + \frac{2^{n}}{(-1)^{n}} \right)^{-1} \\ &= \frac{1}{i} \left(1 + \sum_{n=1}^{\infty} \frac{(n+1)(n+2)}{2} + \frac{2^{n}}{i^{n}} \right)^{-1} \\ &= \frac{1}{i} \sum_{n=0}^{\infty} \frac{(n+1)(n+2)}{2} + \frac{2^{n}}{i^{n}} = \sum_{n=0}^{\infty} \frac{(n+1)(n+2)}{2i^{n+1}} \frac{2^{n}}{2} \\ &= \frac{1}{2} \sum_{n=0}^{\infty} \frac{(n+1)(n+2)}{2} + \frac{2^{n}}{i^{n}} = \sum_{n=0}^{\infty} \frac{(n+1)(n+2)}{2i^{n+1}} \frac{2^{n}}{2} \\ &= \frac{1}{2} |2| < 1. \end{aligned}$$